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Q =3248330000
P = 510510n + 324833

2P + 1 =2(510510n + 324833) + 1 = 10210201 + 649666 + 1 = 10210201 + 649667

0000010210200 20 2003,5,7,11,13,17000000 1000000

649667 = 19 x 31 x 1103 x 1

oooo 10210200 000000000000

2P +1 =510510m + 139157
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Q=3248390000
P = 5105100 + 324839

2P + 1 = 2(510510n + 324839) 4+ 1 = 10210201 + 649678 + 1 = 10210201 + 649679
0000010210200 20 2003,5,7,11,13,17000000 1000000

649679 = 311 x 2089 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 139169
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Q=3248470000
P = 5105100 + 324847

2P + 1 = 2(510510n + 324847) + 1 = 10210201 + 649694 + 1 = 10210201 + 649695
0000010210200 20 2003,5,7,11,13,17000000 10000000

649695 = 3 x 5 x 43313 x 1

oooOo
2P + 1 = 15(68068n + 43313)

oboobooooiboooboooooobooooObooobOo0oboobUobDoooDbobobOoo
good

Q=23248510000
P = 510510n + 324851

2P + 1 = 2(510510n + 324851) 4+ 1 = 10210201 + 649702 + 1 = 10210201 + 649703
0000010210200 20 2003,5,7,11,13,17000000 1000000
649703 = 449 x 1447 x 1
0000 10210200000000000000
2P + 1 = 510510m + 139193
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Q=23248590000
P = 510510n + 324859

2P 4+ 1 = 2(510510n + 324859) + 1 = 1021020n + 649718 + 1 = 10210201 + 649719
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649719 =3 x 3 x 7x 10313 x 1

oooo
2P + 1 = 21(48620n + 30939)
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oooo

Q=23248690000
P = 510510n + 324869

2P 4+ 1 = 2(510510n + 324869) + 1 = 10210201 4 649738 + 1 = 1021020n + 649739
0000010210200 20 2003,5,7,11,13,17000000 1000000

649739 = 649739 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 139229
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Q=324871 0000
P = 510510n + 324871

2P + 1 = 2(510510n + 324871) 4+ 1 = 10210201 + 649742 + 1 = 10210201 + 649743
0000010210200 20 2003,5,7,11,13,17000000 10000000

649743 =3 x 19 x 11399 x 1

oooo
2P + 1 = 3(340340n + 216581)

oooooooob3soooooobooboooooooboooooooDoobobooooobbOBbOoOn
ooo

Q=23248810000
P = 510510n + 324881

2P + 1 =2(510510n + 324881) + 1 = 1021020n + 649762 + 1 = 1021020n + 649763

0000010210200 20 2003,5,7,11,13,17000000 1000000

649763 = 661 x 983 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 139253
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Q=324880 0000
P = 5105100 + 324889

2P + 1 = 2(510510n + 324889) + 1 = 10210201 + 649778 + 1 = 10210201 + 649779
0000010210200 20 2003,5,7,11,13,17000000 10000000

649779 = 3 x 13 x 16661 x 1

oooo
2P 4 1 = 39(26180n + 16661)
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good

Q=3248930000
P = 510510n + 324893

2P + 1 = 2(510510n + 324893) + 1 = 10210201 + 649786 + 1 = 10210201 + 649787
0000010210200 20 2003,5,7,11,13,17000000 1000000

649787 = 649787 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 139277
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Q=324809 0000
P = 510510n + 324899

2P + 1 = 2(510510n + 324899) + 1 = 10210201 + 649798 + 1 = 10210201 + 649799
0000010210200 20 2003,5,7,11,13,17000000 1000000
649799 = 649799 x 1
0000 10210200000000000000
2P + 1 = 510510m + 139289
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Q=324901 0000
P = 510510n + 324901

2P 4+ 1 =2(510510n + 324901) + 1 = 10210201 + 649802 + 1 = 10210201 + 649803
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649803 =3 x 7Tx 11 x29x 97 x 1

oooo
2P + 1 = 231(4420n + 2813)
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Q=3249110000
P = 510510n + 324911

2P + 1 = 2(510510n + 324911) 4+ 1 = 10210201 + 649822 + 1 = 10210201 + 649823
0000010210200 20 2003,5,7,11,13,17000000 1000000

649823 = 157 x 4139 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 139313
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Q=3249130000
P = 5105100 + 324913

2P + 1 = 2(510510n + 324913) + 1 = 10210201 4 649826 + 1 = 10210200 + 649827
0000010210200 20 2003,5,7,11,13,17000000 10000000

649827 =3 x 3 x 103 x 701 x 1

oooo
2P + 1 = 3(340340n + 216609)
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Q=3249170000
P = 510510n + 324917

2P + 1 =2(510510n + 324917) + 1 = 1021020n + 649834 + 1 = 10210201 + 649835

0000010210200 20 2003,5,7,11,13,17000000 10000000

649835 = 5 x 129967 x 1

oooo
2P + 1 = 5(204204n + 129967)
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Q=3249230000
P = 510510n + 324923

2P + 1 =2(510510n + 324923) + 1 = 10210201 + 649846 + 1 = 1021020n + 649847

0000010210200 20 2003,5,7,11,13,17000000 10000000

649847 = 11 x 59077 x 1

oooo
2P + 1 = 11(92820n + 59077)
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Q=3249310000
P = 510510n + 324931

2P 4+ 1 =2(510510n + 324931) + 1 = 10210201 + 649862 + 1 = 10210201 + 649863

0000010210200 20 2003,5,7,11,13,17000000 10000000

649863 =3 x 3 x3x3I xT71lx113 x1

oooo
2P + 1 = 3(340340n + 216621)
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ooo

Q=3249370000
P = 510510n + 324937

2P + 1 = 2(510510n + 324937) + 1 = 10210201 + 649874 + 1 = 10210201 + 649875
0000010210200 20 2003,5,7,11,13,17000000 10000000

649875 =3 x5 x H x5 x 1733 x 1

oooo
2P + 1 = 15(68068n + 43325)
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good

Q=2324941 0000
P = 510510n + 324941
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2P + 1 =2(510510n + 324941) + 1 = 1021020n + 649882 + 1 = 1021020n + 649883

0000010210200 20 2003,5,7,11,13,17000000 10000000

649883 = 13 x 49991 x 1

oooo
2P + 1 = 13(78540n + 49991)
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Q=3249430000
P = 510510n + 324943

2P + 1 = 2(510510n + 324943) + 1 = 10210201 + 649886 + 1 = 10210201 + 649887
0000010210200 20 2003,5,7,11,13,17000000 10000000

649887 =3 x 7T x 7T x 4421 x 1

oooo
2P + 1 = 21(48620n + 30947)
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good

Q=3249490000
P = 5105100 + 324949

2P + 1 = 2(510510n + 324949) + 1 = 10210201 + 649898 + 1 = 10210201 + 649899
0000010210200 20 2003,5,7,11,13,17000000 10000000

649899 = 3 x 3 x 72211 x 1

oooo
2P + 1 = 3(340340n + 216633)

gooooooOo3sooboooooUoobooU0oOoUobOoUbDOoUobDOoUobbOUDbDOoobDboUDoOO
ooo

Q=3249530000
P = 510510n + 324953

2P 4+ 1 =2(510510n + 324953) + 1 = 10210201 + 649906 + 1 = 1021020n + 649907

0000010210200 20 2003,5,7,11,13,17000000 1000000

649907 = 649907 x 1
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2P 4+ 1 =510510m + 139397
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Q=13240590000
P = 510510n + 324959

2P + 1 = 2(510510n + 324959) + 1 = 10210201 + 649918 + 1 = 10210201 + 649919
0000010210200 20 2003,5,7,11,13,17000000 1000000

649919 =29 x 73 x 307 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 139409
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Q=23249670000
P = 510510n + 324967

2P 4+ 1 = 2(510510n + 324967) + 1 = 10210200 + 649934 + 1 = 10210201 + 649935
0000010210200 20 2003,5,7,11,13,17000000 10000000

649935 =3 x3 x5 x 11 x13x101 x1

ooono
2P + 1 = 2145(476n + 303)

00000000245 000000000000000000000D000O00DO00OO0ODOO
googn

Q=3249710000
P = 510510n + 324971

2P 4+ 1 =2(510510n + 324971) + 1 = 10210201 + 649942 + 1 = 10210201 + 649943

0000010210200 20 2003,5,7,11,13,17000000 10000000

649943 =7 x 92849 x 1

oooOo
2P + 1 = 7(145860n + 92849)
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goo
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Q=13249770000
P = 510510n + 324977

2P + 1 = 2(510510n + 324977) 4+ 1 = 10210201 4 649954 + 1 = 10210201 + 649955
0000010210200 20 2003,5,7,11,13,17000000 10000000

649955 = 5 x 61 x 2131 x 1

oooo
2P + 1 = 5(204204n + 129991)
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goo

Q=3249790000
P = 510510n + 324979

2P + 1 = 2(510510n + 324979) + 1 = 10210201 + 649958 + 1 = 10210201 + 649959
0000010210200 20 2003,5,7,11,13,17000000 10000000

649959 = 3 x 216653 x 1

good
2P + 1 = 3(340340n + 216653)
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goo

Q=324983 0000
P = 510510n + 324983

2P + 1 = 2(510510n + 324983) + 1 = 10210201 4 649966 + 1 = 10210201 + 649967
0000010210200 20 2003,5,7,11,13,17000000 1000000
649967 = 67 x 89 x 109 x 1
0000 10210200000000000000
2P + 1 = 510510m + 139457
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Q=2324991 0000
P = 510510n + 324991

2P 4+ 1 =2(510510n + 324991) + 1 = 10210201 + 649982 + 1 = 10210201 + 649983
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649983 = 3 x 216661 x 1

good
2P + 1 = 3(340340n + 216661)
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Q=324997 0000
P = 510510n + 324997

2P + 1 = 2(510510n + 324997) + 1 = 10210201 4 649994 + 1 = 10210201 + 649995
0000010210200 20 2003,5,7,11,13,17000000 10000000

649995 = 3 x 5 x 17 x 2549 x 1

oooo
2P + 1 = 255(4004n + 2549)
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Q=3250010000
P = 510510n + 325001

2P + 1 = 2(510510n + 325001) 4 1 = 10210201 4+ 650002 + 1 = 10210201 + 650003
0000010210200 20 2003,5,7,11,13,17000000 1000000

650003 = 23 x 59 x 479 x 1
Ooooo 10210200 0000000000000
2P +1 = 510510m + 139493

gooboobooobooboboobboobboobuooobooo

Q=3250070000
P = 510510n + 325007

2P + 1 =2(510510n + 325007) + 1 = 1021020n + 650014 + 1 = 10210201 + 650015

0000010210200 20 2003,5,7,11,13,17000000 10000000

650015 = 5 x 130003 x 1

oooo
2P + 1 = 5(204204n + 130003)
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Q=3250090000
P = 510510n + 325009

2P 4+ 1 =2(510510n + 325009) + 1 = 10210201 + 650018 + 1 = 1021020n + 650019

0000010210200 20 2003,5,7,11,13,17000000 10000000

650019 = 3 x 389 x 557 x 1

good
2P + 1 = 3(340340n + 216673)
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Q=13250190000
P = 510510n + 325019

2P 4+ 1 =2(510510n + 325019) + 1 = 10210201 + 650038 + 1 = 10210207 + 650039

0000010210200 20 2003,5,7,11,13,17000000 10000000

650039 = 13 x 31 x 1613 x 1

oooo
2P + 1 = 13(78540n + 50003)

goodo0obo0oyoobooOooobOobooOooUOooOUoOoOoDOobDOoOoDOobDOobOoOooboOooo
good

Q=3250210000
P = 510510n + 325021

2P + 1 = 2(510510n + 325021) 4+ 1 = 10210201 + 650042 + 1 = 10210201 + 650043
0000010210200 20 2003,5,7,11,13,17000000 10000000

650043 = 3 x 3 x 72227 x 1

good
2P + 1 = 3(340340n + 216681)
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goo

Q=3250270000
P = 5105100 + 325027
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2P + 1 =2(510510n + 325027) + 1 = 1021020n + 650054 + 1 = 1021020n + 650055

0000010210200 20 2003,5,7,11,13,17000000 10000000

650055 =3 x b5 xT7x41 x151 x1

oooo
2P + 1 = 105(9724n + 6191)
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Q=3250330000
P = 510510n + 325033

2P + 1 = 2(510510n + 325033) + 1 = 10210201 4 650066 + 1 = 10210201 + 650067
0000010210200 20 2003,5,7,11,13,17000000 10000000

650067 = 3 x 11 x 19699 x 1

good
2P + 1 = 33(30940n + 19699)
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good

Q=1325037 0000
P = 510510n + 325037

2P + 1 = 2(510510n + 325037) 4+ 1 = 10210201 4 650074 + 1 = 10210201 + 650075
0000010210200 20 2003,5,7,11,13,17000000 10000000

650075 =5 x 5 x 26003 x 1

oooo
2P + 1 = 5(204204n + 130015)
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ooo

Q=3250430000
P = 510510n + 325043

2P 4+ 1 =2(510510n + 325043) + 1 = 10210201 + 650086 + 1 = 10210207 4+ 650087

0000010210200 20 2003,5,7,11,13,17000000 1000000

650087 = 149 x 4363 x 1
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2P 4+ 1 =510510m + 139577
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Q=13250490000
P = 510510n + 325049

2P + 1 = 2(510510n + 325049) + 1 = 10210201 4 650098 + 1 = 10210201 4 650099
0000010210200 20 2003,5,7,11,13,17000000 1000000

650099 = 650099 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 139589
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Q=3250510000
P = 510510n + 325051

2P 4+ 1 = 2(510510n + 325051) 4+ 1 = 10210201 4 650102 + 1 = 1021020n + 650103
0000010210200 20 2003,5,7,11,13,17000000 10000000

650103 = 3 x 139 x 1559 x 1

ooono
2P + 1 = 3(340340n + 216701)
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Q=3250630000
P = 5105101 + 325063

2P + 1 =2(510510n + 325063) + 1 = 10210201 + 650126 + 1 = 10210201 + 650127

0000010210200 20 2003,5,7,11,13,17000000 10000000

650127 = 3 x 37 x 5857 x 1

oooOo
2P + 1 = 3(340340n + 216709)

gbooboooo3oboboboooooboboooobobobooboDobooobUobobooo
goo
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Q=13250670000
P = 510510n + 325067

2P + 1 = 2(510510n + 325067) 4+ 1 = 10210201 4 650134 + 1 = 10210201 + 650135
0000010210200 20 2003,5,7,11,13,17000000 10000000

650135 = 5 x 130027 x 1

oooo
2P + 1 = 5(204204n + 130027)

gboobobooosOobobobooboboobOoboboobobOobUobDOobDobobOoOobOobDOobDOoo
goo

Q=3250690000
P = 510510n + 325069

2P + 1 = 2(510510n + 325069) + 1 = 10210201 + 650138 + 1 = 10210201 + 650139
0000010210200 20 2003,5,7,11,13,17000000 10000000

650139 =3 x 7 x 83 x 373 x 1

oooo
2P + 1 = 21(48620n + 30959)

obo0obO0oobo210000b00ob000obObooo0b0oo0bO0o0oboobUobDoOooDbOobobOoo
good

Q=13250790000
P = 510510n + 325079

2P + 1 = 2(510510n + 325079) 4+ 1 = 10210201 + 650158 + 1 = 10210201 4 650159
0000010210200 20 2003,5,7,11,13,17000000 1000000
650159 = 439 x 1481 x 1
0000 10210200000000000000
2P + 1 = 510510m + 139649
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Q=3250810000
P = 510510n + 325081

2P 4+ 1 =2(510510n + 325081) + 1 = 1021020n + 650162 + 1 = 10210201 + 650163

93



0000010210200 20 2003,5,7,11,13,17000000 10000000

650163 = 3 x 31 x 6991 x 1

oooo
2P + 1 = 3(340340n + 216721)
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Q=3250930000
P = 510510n + 325093

2P + 1 = 2(510510n + 325093) + 1 = 10210201 4 650186 + 1 = 10210201 + 650187
0000010210200 20 2003,5,7,11,13,17000000 10000000

650187 =3 x3x3x3x23x349 x 1

oooo
2P + 1 = 3(340340n + 216729)
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Q=3250970000
P = 510510n + 325097

2P 4+ 1 =2(510510n + 325097) + 1 = 1021020n + 650194 + 1 = 10210201 + 650195
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

650195 =5 x 7 x 13 x 1429 x 1

oooo
2P + 1 = 455(2244n + 1429)
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Q=13250090000
P = 5105100 + 325099

2P + 1 =2(510510n + 325099) + 1 = 10210201 + 650198 + 1 = 10210201 + 650199

0000010210200 20 2003,5,7,11,13,17000000 10000000

650199 =3 x 11 x 17 x 19 x 61 x 1

oooo
2P + 1 = 561(1820n + 1159)
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Q=3251030000
P = 510510n + 325103

2P + 1 =2(510510n + 325103) + 1 = 10210201 + 650206 + 1 = 1021020n 4+ 650207
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

650207 = 163 x 3989 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 139697
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Q=3251090000
P = 510510n + 325109

2P + 1 = 2(510510n + 325109) 4 1 = 10210201 + 650218 + 1 = 10210201 + 650219
0000010210200 20 2003,5,7,11,13,17000000 1000000

650219 = 41 x 15859 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 139709
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Q=3251110000
P =510510n + 325111

2P + 1 =2(510510n + 325111) + 1 = 10210201 + 650222 + 1 = 10210201 + 650223

0000010210200 20 2003,5,7,11,13,17000000 10000000

650223 =3 x 3 x 7 x 10321 x 1

oooo
2P + 1 = 21(48620n + 30963)
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good

Q=3251210000
P =510510n + 325121

2P 4+ 1 =2(510510n + 325121) 4+ 1 = 1021020n + 650242 + 1 = 10210201 + 650243
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650243 = 11 x 59113 x 1

oooo
2P + 1 =11(92820n + 59113)
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good

Q=3251230000
P = 5105100 + 325123

2P + 1 = 2(510510n + 325123) + 1 = 10210201 4 650246 + 1 = 10210201 + 650247
0000010210200 20 2003,5,7,11,13,17000000 10000000

650247 = 3 x 13 x 16673 x 1

oooo
2P + 1 = 39(26180n + 16673)

goooooboOo3ooooooobobooooooooooDobDOooDOobDOoboooboOooo
good

Q=3251330000
P = 510510n + 325133

2P 4+ 1 =2(510510n + 325133) + 1 = 10210201 + 650266 + 1 = 10210201 + 650267
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

650267 = 17 x 29 x 1319 x 1

0ooo
2P + 1 = 17(60060n + 38251)
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Q=3251390000
P = 5105100 + 325139

2P + 1 =2(510510n + 325139) + 1 = 1021020n + 650278 + 1 = 10210201 + 650279
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2P + 1 = 2(510510n + 325459) + 1 = 10210201 + 650918 + 1 = 10210201 + 650919
0000010210200 20 2003,5,7,11,13,17000000 10000000

650919 = 3 x 216973 x 1

oooo
2P + 1 = 3(340340n + 216973)

o00ob0obO0o0o30b00b0obooooobobOooDoOobOobOooDoboDobooobOobDOooDOoo
goo

Q=3254630000
P = 5105100 + 325463

2P + 1 = 2(510510n + 325463) + 1 = 10210201 4 650926 + 1 = 10210201 + 650927
0000010210200 20 2003,5,7,11,13,17000000 1000000

650927 = 650927 x 1

Oooo0D 10210200 000000000000

2P 4+ 1 =510510m + 140417

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3254690000
P = 510510n + 325469

2P + 1 = 2(510510n + 325469) + 1 = 10210201 + 650938 + 1 = 10210201 4 650939
0000010210200 20 2003,5,7,11,13,17000000 1000000
650939 = 131 x 4969 x 1
0000 10210200000000000000
2P + 1 = 510510m + 140429

gbooboobooobooboboobboobboooboooboon

Q=23254710000
P = 510510n + 325471

2P 4+ 1 =2(510510n + 325471) + 1 = 1021020n + 650942 + 1 = 10210201 + 650943

0000010210200 20 2003,5,7,11,13,17000000 10000000

650943 = 3 x 3 x 3 x 24109 x 1
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oooo
2P + 1 = 3(340340n + 216981)

000000003 000000000000DO000O000OO0DO0ODOO0ODOO0ODO0OO0ODOODOODODn
goo

Q=3254770000
P = 5105100 + 325477

2P + 1 = 2(510510n + 325477) + 1 = 1021020 + 650954 + 1 = 1021020n + 650955
0000010210200 20 2003,5,7,11,13,17000000 10000000

650955 = 3 x 5 x 43397 x 1

oooo
2P + 1 = 15(68068n + 43397)

o0boooOooolbooobooooOoobobooobooobDOo0oboOobUoboDooobOoobOoo
good

Q=1325483 0000
P = 510510n + 325483

2P + 1 = 2(510510n + 325483) + 1 = 10210201 4 650966 + 1 = 10210201 + 650967
0000010210200 20 2003,5,7,11,13,17000000 10000000

650967 = 3 x 97 x 2237 x 1

oooo
2P + 1 = 3(340340n + 216989)

obooboobooo3oboboboooooboboooobobobooboDooboobOobDoooo
goo

Q=325487 0000
P = 510510n + 325487

2P 4+ 1 =2(510510n + 325487) + 1 = 1021020n + 650974 + 1 = 10210201 + 650975

oo000010210200 20 2003,5,7,11,13,17000000 10000000

650975 =5 x 5 x 13 x 2003 x 1

good
2P +1 = 65(15708n + 10015)

gooOdoOoboOde 000000 0ODODOOOOUOOUOOODODOODODODbDODOOObOO
gogo
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Q=2325489 0000
P = 510510n + 325489

2P + 1 = 2(510510n + 325489) 4+ 1 = 10210201 4 650978 + 1 = 10210201 4 650979
0000010210200 20 2003,5,7,11,13,17000000 10000000

650979 =3 x 3 x 7 x 10333 x 1

oooo
2P + 1 = 21(48620n + 30999)

go0Odo0oboOo210000000bO0b000OoO0O0oOo0oDOOobD00oDOobDOobOoOooOooog
goog

Q=3255110000
P = 510510n + 325511

2P + 1 = 2(510510n + 325511) 4+ 1 = 10210201 + 651022 + 1 = 10210201 + 651023
0000010210200 20 2003,5,7,11,13,17000000 1000000

651023 =179 x 3637 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 140513

gboboobooobooboboobboobboobooobooo

Q=3255130000
P = 510510n + 325513

2P + 1 =2(510510n + 325513) + 1 = 10210201 + 651026 + 1 = 1021020n + 651027

0000010210200 20 2003,5,7,11,13,17000000 10000000

651027 = 3 x 13 x 16693 x 1

oooOo
2P + 1 = 39(26180n + 16693)

oboooooo3ooooooooobobooobooboobooboboooobOoobOoo
good

Q=3255170000
P = 510510n + 325517

2P 4+ 1 =2(510510n + 325517) + 1 = 1021020n + 651034 + 1 = 1021020n + 651035
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0000010210200 20 2003,5,7,11,13,17000000 10000000

651035 =5 x7x 11 x 19 x 8 x 1

oooo
2P + 1 = 385(2652n + 1691)

o00ob0obOoo3ssoooooooooobooboooooooobobobobooooooo
good

Q=13255190000
P = 510510n + 325519

2P + 1 = 2(510510n + 325519) 4+ 1 = 10210201 4+ 651038 4+ 1 = 10210201 4 651039
0000010210200 20 2003,5,7,11,13,17000000 10000000

651039 =3 x 41 x 67 x 79 x 1

oooo
2P + 1 = 3(340340n + 217013)

gooooooOo3soobooooooobo0oOoU0bOoUbDOoUobDOoUobDbOUDOoUobDbOUDoOO
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Q=3255200000
P = 510510n + 325529

2P + 1 = 2(510510n + 325529) 4+ 1 = 10210201 + 651058 + 1 = 10210201 + 651059
0000010210200 20 2003,5,7,11,13,17000000 1000000

651059 = 739 x 881 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 140549

goboobooobooboboobboobboobooobooo

Q=3255310000
P = 510510n + 325531

2P + 1 =2(510510n + 325531) + 1 = 10210201 + 651062 + 1 = 10210201 + 651063

0000010210200 20 2003,5,7,11,13,17000000 10000000

651063 =3 x 7 x 7x43 x 103 x 1

oooo
2P + 1 = 21(48620n + 31003)
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goog

Q=3255370000
P = 510510n + 325537

2P 4+ 1 =2(510510n + 325537) + 1 = 10210201 + 651074 + 1 = 1021020n + 651075

0000010210200 20 2003,5,7,11,13,17000000 10000000

651075 =3 x 5 X 5 x 8681 x 1

oooo
2P + 1 = 15(68068n + 43405)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=23255410000
P = 510510n + 325541

2P 4+ 1 =2(510510n + 325541) + 1 = 10210201 + 651082 + 1 = 10210201 + 651083

0000010210200 20 2003,5,7,11,13,17000000 10000000

651083 = 17 x 38299 x 1

oooo
2P + 1 = 17(60060n + 38299)

goooooboOovooooOooOobOobOobOoOoOoUOoOoOoDOobDUoOoDOobDOobOooOboOooog
good

Q=3255430000
P = 510510n + 325543

2P + 1 = 2(510510n + 325543) + 1 = 10210201 4+ 651086 + 1 = 10210201 + 651087
0000010210200 20 2003,5,7,11,13,17000000 10000000

651087 =3 x 3 x 73 x 991 x 1

oooo
2P + 1 = 3(340340n + 217029)

o0obobooo30bobobooooobobDooDooboboboDobDobooobUobDOobDOoo
goo

Q=3255470000
P = 5105100 + 325547
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2P + 1 =2(510510n 4 325547) + 1 = 1021020n + 651094 + 1 = 1021020n + 651095

0000010210200 20 2003,5,7,11,13,17000000 10000000

651095 =5 x 107 x 1217 x 1

oooo
2P + 1 = 5(204204n + 130219)

gboobobooosOoboboboooboobOoboboobobOobobDobDOobobOoOobOobOobDoon
goo

Q=3255530000
P = 510510n + 325553

2P + 1 = 2(510510n + 325553) + 1 = 10210201 4+ 651106 + 1 = 10210201 + 651107
0000010210200 20 2003,5,7,11,13,17000000 1000000

651107 = 23 x 28309 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 140597

goboobooobooboboobboobboobuoooboon

Q=3255610000
P = 510510n + 325561

2P + 1 = 2(510510n + 325561) 4+ 1 = 10210201 + 651122 + 1 = 10210201 + 651123
0000010210200 20 2003,5,7,11,13,17000000 10000000

651123 =3 x 3 x 11 x 6577 x 1

oooo
2P + 1 = 33(30940n + 19731)

obooboooo3dbooooboooooobooobooboobooboboooobOoobOoo
good

Q=3255710000
P = 5105100 + 325571

2P 4+ 1 =2(510510n + 325571) + 1 = 1021020n + 651142 + 1 = 10210201 + 651143

0000010210200 20 2003,5,7,11,13,17000000 1000000

651143 = 651143 x 1
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0000 102102000000000000000

2P 4+ 1 =510510m + 140633

gbobooobogobooboboobboobboooboooboon

Q=13255730000
P = 510510n + 325573

2P + 1 = 2(510510n + 325573) 4+ 1 = 10210201 4 651146 + 1 = 10210201 + 651147
0000010210200 20 2003,5,7,11,13,17000000 10000000

651147 =3 x 7 x 101 x 307 x 1

oooo
2P + 1 = 21(48620n + 31007)

go0odoOoboOo210000000b0bO0obooO0oo0oOo0oDOobDOo0oDOobDOobDoOoboOoooO
googo

Q=3255790000
P = 510510n + 325579

2P + 1 = 2(510510n + 325579) 4+ 1 = 10210201 + 651158 + 1 = 10210201 + 651159
0000010210200 20 2003,5,7,11,13,17000000 10000000

651159 =3 x 3 x 3 x 3 x 8039 x 1

good
2P + 1 = 3(340340n + 217053)

g0obOobooo30bobobooooobobooDooboobobDobDobooobUoboobDoo
goo

Q=1325583 0000
P = 510510n + 325583

2P + 1 =2(510510n + 325583) + 1 = 1021020n + 651166 + 1 = 1021020n + 651167

0000010210200 20 2003,5,7,11,13,17000000 10000000

651167 = 11 x 59197 x 1

oooo
2P + 1 = 11(92820n + 59197)

gooooooolnooooooobOobooooOoboUoOoOoDOoDOooDUObDOobobOboOooboo
good
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Q=13255970000
P = 510510n + 325597

2P 4+ 1 =2(510510n + 325597) 4+ 1 = 1021020n + 651194 + 1 = 10210201 + 651195

0000010210200 20 2003,5,7,11,13,17000000 10000000

651195 =3 x 3 x5 x29x499 x 1

oooo
2P + 1 = 15(68068n + 43413)

goooooooioooobooooooboooboooboobooboboooobOobobOoo
goog

Q=3256030000
P = 510510n + 325603

2P + 1 =2(510510n + 325603) + 1 = 10210201 + 651206 + 1 = 1021020n 4+ 651207

0000010210200 20 2003,5,7,11,13,17000000 10000000

651207 = 3 x 217069 x 1

good
2P + 1 = 3(340340n + 217069)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=13256070000
P = 510510n + 325607

2P + 1 =2(510510n + 325607) + 1 = 1021020n + 651214 + 1 = 1021020n + 651215

0000010210200 20 2003,5,7,11,13,17000000 10000000

651215 =5 x 139 x 937 x 1

oooo
2P + 1 = 5(204204n + 130243)

goooooo0ds0U0b0O0bOO0ODbOO0OOU0DOU0UDOUODOUODOUODOODOUODOO
oono

Q=3256090000
P = 510510n + 325609

2P 4+ 1 =2(510510n + 325609) + 1 = 1021020n + 651218 + 1 = 1021020n + 651219
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0000010210200 20 2003,5,7,11,13,17000000 10000000

651219 =3 x 17 x 113 x 113 x 1

oooo
2P + 1 = 51(20020n + 12769)

O00o0obO0oOooslbOoob0b00ob00oobobooo0b00oo0b0o0oboobooDooobOoobOoo
good

Q=13256130000
P = 510510n + 325613

2P + 1 = 2(510510n + 325613) 4+ 1 = 10210201 4 651226 + 1 = 10210201 + 651227
0000010210200 20 2003,5,7,11,13,17000000 1000000

651227 = 277 x 2351 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 140717

gboboobogobooboboobboobbooobuoonooboon

Q=3256210000
P = 510510n + 325621

2P + 1 = 2(510510n + 325621) 4+ 1 = 10210201 + 651242 + 1 = 10210201 + 651243
0000010210200 20 2003,5,7,11,13,17000000 10000000

651243 = 3 x 217081 x 1

oooo
2P + 1 = 3(340340n + 217081)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=3256270000
P = 510510n + 325627

2P 4+ 1 =2(510510n + 325627) + 1 = 1021020n + 651254 + 1 = 10210201 + 651255

0000010210200 20 2003,5,7,11,13,17000000 10000000

651255 =3 x 5 x 11 x 3947 x 1

oooo
2P + 1 = 165(6188n + 3947)
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OOo0oOod0oboOoles0d0OOO00OO0O0ODOO0ODOUODOOUODOODbDO0O0OOOUODOUODOO
goog

Q=3256310000
P = 510510n + 325631

2P + 1 = 2(510510n + 325631) 4 1 = 10210201 4 651262 + 1 = 10210201 + 651263
0000010210200 20 2003,5,7,11,13,17000000 1000000

651263 = 19 x 151 x 227 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 140753

gbooboobooobooboboobboobboooboooboon

Q=13256390000
P = 510510n + 325639

2P 4+ 1 = 2(510510n + 325639) + 1 = 1021020n + 651278 + 1 = 1021020n + 651279

0000010210200 20 2003,5,7,11,13,17000000 10000000

651279 =3 x 31 x47 x 149 x 1

good
2P + 1 = 3(340340n + 217093)

gooooooOo3sooboooooUoboUooU0bOoUbDOoUbOoUobObOUDbDOUobDbOUDbOoO
goo

Q=3256430000
P = 510510n + 325643

2P 4+ 1 =2(510510n + 325643) + 1 = 10210201 + 651286 + 1 = 1021020n + 651287

0000010210200 20 2003,5,7,11,13,17000000 10000000

651287 =7 x 13 x 17 x 421 x 1

oooo
2P + 1 = 1547(660n + 421)

000000001470 00000000000D00DO0O0O00ODO0ODODO0OOODOOOO0ODOOd
googn

Q=23256490000
P = 510510n + 325649

2P 4+ 1 =2(510510n + 325649) + 1 = 1021020n + 651298 + 1 = 10210201 + 651299
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0000010210200 20 2003,5,7,11,13,17000000 10000000

651299 = 11 x 59209 x 1

oooo
2P + 1 = 11(92820n + 59209)

oboobooobolnooooboobooobobooobooboobooboboooobOoobOoo
good

Q=3256510000
P = 510510n + 325651

2P + 1 = 2(510510n + 325651) 4+ 1 = 10210201 + 651302 + 1 = 10210201 + 651303
0000010210200 20 2003,5,7,11,13,17000000 10000000

651303 = 3 x 3 x 72367 x 1

oooo
2P + 1 = 3(340340n + 217101)

gooooooOo3soooooooooboooooobOoobDoobDOoobOoUDOoOobDboUODboO
goo

Q=3256570000
P = 510510n + 325657

2P 4+ 1 =2(510510n + 325657) + 1 = 1021020n + 651314 + 1 = 10210201 + 651315
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

651315 =3 x5 X 7 x 6203 x 1

oooo
2P 4+ 1 =105(9724n + 6203)

ooobobgobolesobooboooooboobobobooboobooobOobUobobDooOoooo
goog

Q=325667 0000
P = 5105100 + 325667

2P 4+ 1 =2(510510n + 325667) + 1 = 10210201 + 651334 + 1 = 10210201 + 651335

0000010210200 20 2003,5,7,11,13,17000000 10000000

651335 = 5 x 130267 x 1

oooo
2P + 1 = 5(204204n + 130267)
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gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=3256730000
P = 510510n + 325673

2P + 1 = 2(510510n + 325673) + 1 = 10210201 + 651346 + 1 = 10210201 + 651347
0000010210200 20 2003,5,7,11,13,17000000 1000000

651347 = 651347 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 140837

oooboobooobooboboobboobboobooobooo

Q=3256790000
P = 510510n + 325679

2P + 1 = 2(510510n + 325679) 4+ 1 = 10210201 + 651358 + 1 = 10210201 + 651359
0000010210200 20 2003,5,7,11,13,17000000 1000000

651359 = 643 x 1013 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 140849

goboobooobooboboobboobbooboooboon

Q=3256810000
P = 510510n + 325681

2P 4+ 1 =2(510510n + 325681) + 1 = 10210201 + 651362 + 1 = 10210201 + 651363

0000010210200 20 2003,5,7,11,13,17000000 10000000

651363 = 3 x 217121 x 1

oooo
2P + 1 = 3(340340n + 217121)

oboobobooo3oboboboooooboboooobobUobooboDoboboobOobDoooo
goo

Q=325687 0000
P = 510510n + 325687

2P 4+ 1 =2(510510n + 325687) + 1 = 1021020n + 651374 + 1 = 10210201 + 651375

124



0000010210200 20 2003,5,7,11,13,17000000 10000000

651375 =3 x3x3xHxbxHhx193x1

oooo
2P + 1 = 15(68068n + 43425)

o0oobOooolboooooobooobobooobooob0o0oboOobUooDooobOoobOoo
good

Q=1325691 0000
P = 510510n + 325691

2P + 1 = 2(510510n + 325691) 4+ 1 = 10210201 + 651382 + 1 = 10210201 + 651383
0000010210200 20 2003,5,7,11,13,17000000 1000000

651383 = 23 x 127 x 223 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 140873

gbobooboooboobboobboobobooobuoonoboon

Q=3256930000
P = 510510n + 325693

2P + 1 = 2(510510n + 325693) 4+ 1 = 10210201 4 651386 + 1 = 10210201 + 651387
0000010210200 20 2003,5,7,11,13,17000000 10000000

651387 =3 x 11 x 19739 x 1

oooo
2P + 1 = 33(30940n + 19739)

oooooOooboOo3ooboooooboboooooooooDoobOooDobDoboooboooo
good

Q=3256970000
P = 510510n + 325697

2P 4+ 1 =2(510510n + 325697) + 1 = 10210201 + 651394 + 1 = 10210201 + 651395

0000010210200 20 2003,5,7,11,13,17000000 10000000

651395 = 5 x 130279 x 1

oooo
2P + 1 = 5(204204n + 130279)
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gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=3257090000
P = 510510n + 325709

2P + 1 = 2(510510n + 325709) 4 1 = 10210201 + 651418 + 1 = 10210201 + 651419
0000010210200 20 2003,5,7,11,13,17000000 1000000

651419 = 59 x 61 x 181 x 1

o000 102102000000000000000

2P +1 = 510510m + 140909

gbooboobooobooboboobboobboooboooboon

Q=3257110000
P =510510n + 325711

2P 4+ 1 =2(510510n + 325711) + 1 = 1021020n + 651422 + 1 = 1021020n + 651423

0000010210200 20 2003,5,7,11,13,17000000 10000000

651423 =3 x 17 x 53 x 241 x 1

oooo
2P + 1 = 51(20020n + 12773)

gbooooooslboboobobooooooboboooboobooboobobnooobOobobOoon
goog

Q=3257230000
P = 510510n + 325723

2P 4+ 1 =2(510510n + 325723) + 1 = 10210201 + 651446 + 1 = 1021020n + 651447

0000010210200 20 2003,5,7,11,13,17000000 10000000

651447 =3 x 3 x 72383 x 1

oooo
2P + 1 = 3(340340n + 217149)

o00b0o0O0o030000000000b00bO0OD0oO0bO0obOO0oDOOobODOoOOoOobOobDOoDOn
goo

Q=3257270000
P = 510510n + 325727

2P 4+ 1 =2(510510n + 325727) + 1 = 1021020n + 651454 + 1 = 10210201 + 651455
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0000010210200 20 2003,5,7,11,13,17000000 10000000

651455 =5 X 7 x 7 x 2659 x 1

ooono
2P + 1 =35(29172n + 18613)

oooooooosoooooooooooooooooobooooobooooobooooDoobOn
oooo

Q=23257290000
P = 510510n + 325729

2P 4+ 1 = 2(510510n + 325729) + 1 = 10210201 4 651458 + 1 = 1021020n + 651459
0000010210200 20 2003,5,7,11,13,17000000 10000000

651459 = 3 x 37 x 5869 x 1

oooo
2P + 1 = 3(340340n + 217153)

ooobobooo3oboboboooooboboooobobUobDobDobooobOobobDoo
goo

Q=13257330000
P = 510510n + 325733

2P + 1 =2(510510n + 325733) + 1 = 10210201 + 651466 + 1 = 10210201 + 651467
0000010210200 20 2003,5,7,11,13,17000000 1000000
651467 = 47 x 83 x 167 x 1
0000 10210200 000000000000
2P 4+ 1 =510510m + 140957

gbooboobooobooboboobboobbooboooboon

Q=3257390000
P = 5105100 + 325739

2P 4+ 1 =2(510510n + 325739) + 1 = 1021020n + 651478 + 1 = 1021020n + 651479

0000010210200 20 2003,5,7,11,13,17000000 1000000

651479 = 197 x 3307 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 140969
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Q=3257470000
P = 5105100 + 325747

2P + 1 = 2(510510n + 325747) + 1 = 10210201 4 651494 + 1 = 10210201 + 651495
0000010210200 20 2003,5,7,11,13,17000000 10000000

651495 =3 x5 x 13 x 13 x 257 x 1

oooo
2P + 1 = 195(5236n + 3341)

goooooooysooooooooooooboooboooboobbo0oooooDooDoo
good

Q=3257510000
P = 510510n + 325751

2P + 1 = 2(510510n + 325751) 4+ 1 = 10210201 + 651502 + 1 = 10210201 + 651503
0000010210200 20 2003,5,7,11,13,17000000 1000000

651503 = 651503 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 140993

gboboobogobooboboobboobboooboooboon

Q=13257530000
P = 510510n + 325753

2P + 1 =2(510510n + 325753) + 1 = 10210201 + 651506 + 1 = 10210201 + 651507

0000010210200 20 2003,5,7,11,13,17000000 10000000

651507 = 3 x 217169 x 1

oooo
2P + 1 = 3(340340n + 217169)

gooooooOo3sooboooooooboU0oOoU0bOoUbDOoUobOoUobDOUDbDOoUobDboUDboOoO
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Q=3257570000
P = 510510n + 325757

2P + 1 =2(510510n + 325757) + 1 = 1021020n + 651514 + 1 = 1021020n + 651515
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Q=1326081 0000
P = 510510n + 326981

2P + 1 = 2(510510n + 326981) + 1 = 10210201 + 653962 + 1 = 10210201 + 653963
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Q=3269830000
P = 510510n + 326983

2P + 1 = 2(510510n + 326983) + 1 = 10210201 4 653966 + 1 = 10210201 + 653967
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Q=3269930000
P = 510510n + 326993

2P + 1 = 2(510510n + 326993) + 1 = 10210201 + 653986 + 1 = 10210201 + 653987
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Q=3269990000
P = 510510n + 326999
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0000010210200 20 2003,5,7,11,13,17000000 1000000
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Q=3270010000
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2P + 1 = 2(510510n + 327011) 4+ 1 = 10210201 + 654022 + 1 = 10210201 + 654023
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Q=3270130000
P = 510510n + 327013

2P + 1 = 2(510510n + 327013) 4+ 1 = 10210201 4 654026 + 1 = 10210201 + 654027
0000010210200 20 2003,5,7,11,13,17000000 10000000

654027 = 3 x 11 x 19819 x 1
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Q=3270170000
P = 510510n + 327017

2P + 1 =2(510510n + 327017) + 1 = 10210201 + 654034 + 1 = 10210201 + 654035
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654035 = 5 x 130807 x 1
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2P + 1 = 5(204204n + 130807)
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Q=3270230000
P = 510510n + 327023

2P + 1 = 2(510510n + 327023) + 1 = 10210201 4 654046 + 1 = 10210201 + 654047
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Q=3270490000
P = 5105100 + 327049

2P 4+ 1 = 2(510510n + 327049) + 1 = 10210201 4 654098 + 1 = 1021020n + 654099
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654099 = 3 x 47 x 4639 x 1
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Q=13270530000
P = 510510n + 327053

2P + 1 = 2(510510n + 327053) 4+ 1 = 10210201 4 654106 + 1 = 10210201 + 654107
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654107 = 654107 x 1
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P = 5105100 + 327071

2P 4+ 1 =2(510510n + 327071) + 1 = 1021020n + 654142 + 1 = 10210201 + 654143
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2P + 1 =2(510510n + 327073) + 1 = 10210201 + 654146 + 1 = 1021020n + 654147
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oboooooo3ooooooooooboooboooboobooboboooobOoobOoo
good
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P = 510510n + 327077

2P + 1 =2(510510n + 327077) + 1 = 1021020n + 654154 + 1 = 1021020n + 654155
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P = 510510n + 327079

2P 4+ 1 =2(510510n + 327079) + 1 = 10210201 + 654158 + 1 = 10210201 + 654159
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P = 510510n + 327083

2P + 1 = 2(510510n + 327083) + 1 = 10210201 4 654166 + 1 = 10210201 + 654167
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Q=3270910000
P = 5105100 + 327091

2P + 1 = 2(510510n + 327091) 4+ 1 = 10210201 + 654182 + 1 = 10210201 + 654183
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654183 =3 x 3 x 3 x 24229 x 1
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2P + 1 = 3(340340n + 218061)
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Q=3271010000
P = 510510n + 327101

2P + 1 =2(510510n + 327101) + 1 = 10210201 + 654202 + 1 = 10210201 + 654203
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654203 = 11 x 59473 x 1
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2P + 1 =11(92820n + 59473)
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P = 510510n + 327109

2P 4+ 1 =2(510510n + 327109) + 1 = 1021020n + 654218 + 1 = 1021020n + 654219
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P =510510n + 327113

2P + 1 =2(510510n + 327113) + 1 = 10210201 + 654226 + 1 = 1021020n + 654227
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oooo
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Q=3271210000
P =510510n + 327121

2P + 1 = 2(510510n + 327121) 4+ 1 = 10210201 + 654242 + 1 = 10210201 + 654243
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Q=3271330000
P = 510510n + 327133

2P + 1 = 2(510510n + 327133) + 1 = 10210201 + 654266 + 1 = 10210201 + 654267
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Q=3271370000
P = 510510n + 327137

2P + 1 = 2(510510n + 327137) 4+ 1 = 10210201 + 654274 + 1 = 10210200 + 654275
0000010210200 20 2003,5,7,11,13,17000000 10000000

654275 =5 x 5 x 26171 x 1
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2P + 1 = 5(204204n + 130855)
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Q=3271390000
P = 510510n + 327139

2P 4+ 1 =2(510510n + 327139) + 1 = 1021020n + 654278 + 1 = 1021020n + 654279

0000010210200 20 2003,5,7,11,13,17000000 10000000

654279 = 3 x 17 x 12829 x 1
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Q=3271430000
P =510510n + 327143

2P 4+ 1 = 2(510510n + 327143) + 1 = 10210200 + 654286 + 1 = 10210200 + 654287
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654287 = 47 x 13921 x 1
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Q=3271490000
P = 510510n + 327149

2P + 1 = 2(510510n + 327149) + 1 = 10210201 + 654298 + 1 = 10210201 + 654299
0000010210200 20 2003,5,7,11,13,17000000 1000000

654299 = 73 x 8963 x 1
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2P 4+ 1 =510510m + 143789

goboobooobooboboobboobbooboooboon

Q=3271570000
P = 5105100 + 327157

2P 4+ 1 =2(510510n + 327157) + 1 = 1021020n + 654314 + 1 = 10210201 + 654315
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P = 510510n + 327161

2P + 1 = 2(510510n + 327161) 4+ 1 = 10210201 + 654322 + 1 = 10210201 + 654323
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654323 = 654323 x 1
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2P 4+ 1 =510510m + 143813
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Q=3271630000
P = 510510n + 327163

2P 4+ 1 =2(510510n + 327163) + 1 = 10210201 + 654326 + 1 = 1021020n + 654327

0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=3271670000
P = 510510n + 327167

2P + 1 =2(510510n + 327167) + 1 = 1021020n + 654334 + 1 = 10210201 + 654335
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2P 4+ 1 =2(510510n + 327169) + 1 = 1021020n + 654338 + 1 = 10210201 + 654339
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Q=3271790000
P = 5105100 + 327179

2P 4+ 1 = 2(510510n + 327179) 4+ 1 = 10210201 4 654358 + 1 = 1021020n + 654359
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Q=3271810000
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2P + 1 = 2(510510n + 327181) 4+ 1 = 10210201 + 654362 + 1 = 10210201 + 654363
0000010210200 20 2003,5,7,11,13,17000000 10000000

654363 = 3 x 3 x 72707 x 1
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2P + 1 = 3(340340n + 218121)
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Q=3271910000
P = 510510n + 327191

2P + 1 =2(510510n + 327191) + 1 = 1021020n + 654382 + 1 = 1021020n + 654383
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Q=3271930000
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2P + 1 = 2(510510n + 327193) 4+ 1 = 10210201 4 654386 + 1 = 10210201 + 654387
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Q=3272030000
P = 510510n + 327203

2P + 1 = 2(510510n + 327203) + 1 = 10210201 4 654406 + 1 = 10210201 + 654407
0000010210200 20 2003,5,7,11,13,17000000 10000000
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2P + 1 = 13(78540n + 50339)
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P = 510510n + 327209

2P 4+ 1 = 2(510510n + 327209) + 1 = 10210201 4 654418 + 1 = 1021020n + 654419
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654419 = 23 x 37 x 769 x 1
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2P + 1 =2(510510n + 327211) + 1 = 1021020n + 654422 + 1 = 1021020n + 654423
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Q=3272210000
P = 510510n + 327221

2P + 1 = 2(510510n + 327221) 4+ 1 = 10210201 + 654442 + 1 = 10210201 + 654443
0000010210200 20 2003,5,7,11,13,17000000 1000000

654443 = 29 x 22567 x 1
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2P 4+ 1 =510510m + 143933
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Q=3272270000
P = 510510n + 327227

2P + 1 = 2(510510n + 327227) 4+ 1 = 10210201 4 654454 + 1 = 10210200 + 654455
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Q=3272410000
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2P + 1 = 51(20020n + 12833)
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Q=3272470000
P = 510510n + 327247

2P + 1 = 2(510510n + 327247) 4+ 1 = 10210201 4 654494 + 1 = 10210200 + 654495
0000010210200 20 2003,5,7,11,13,17000000 10000000

654495 = 3 x 5 x 43633 x 1
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Q=3272530000
P = 510510n + 327253

2P 4+ 1 =2(510510n + 327253) + 1 = 10210201 + 654506 + 1 = 1021020n + 654507
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Q=3272630000
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2P + 1 = 2(510510n + 327263) 4+ 1 = 10210201 4 654526 + 1 = 10210201 + 654527
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654527 = 654527 x 1
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Q=3272810000
P = 510510n + 327281
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